H & 0l & AHS B Ml A
Al SEMX=AIH A SERXIL
M SENRA Jlgtas
el SEXX MRS (SH9 H2)
AZ 2N - FB - OI(SH) - NRAY - BIES 0 &t A HimE==T
SEAX = 31,034,175 20,026,580 11,007,595
= 800,000
[ 799,000
Al 29,435,175
SEXXI 171,344 267,854 196,510
SER Jlgtets 46,260 114,640 268,380
SEXA MzHA 46,260 114,640 68,380
SENR 2 16,000 19,000 23,000
201 fer= 3| 4,000 5,000 21,000
01 AtR2t2l] 4,000 5,000 21,000
OSEXX =& 2dH]
2,000,000 %14 2,000
OgRFa Xtz UM 2,000,000 14! 2,000
202 04t 4,800 5,000 2200
01 =LHoiL 4,800 5,000 £200
OSENXYES bl
20,0002 62 *403] 4,800
203 BR=&H] 7,200 9,000 21,800
03 A=A 2= 7,200 9,000 21,800
OSEXX dRFT(HE)
4,800,000 *14] 4,800
OSEXX ge=d 2,400,000 14! 2,400
SETA Hedst 16,000 44,000 £28,000
201 er2 3| 16,000 44,000 £28,000
01 AtR2tel] 16,000 26,000 10,000
OSEXA 22 M
10,000,000 *14] 10,000
OSEAX dgZst U=
6,000,000& *14] 6,000
XEE Salg= 2,240 25,500 N23,260
201 er23 | 2,240 3,500 21,260
01 At2teltl 2,240 3,500 A1,260
ORds & NHEe
70,0002 x8H #4353 2,240
TAIEA HEde) 12,020 10,740 1,280
201 ger=3| 5,020 5,740 AT20
01 AtR2t2l] 5,020 5,740 AT
O=Ida 4 (A=<
70,0002 6 H+63] 2,520
OTtMEsl =8 24
1,500,000 *14] 1,500
O MEL SHegfdst MAWS
1,000,000 14! 1,000
202 04l 2,000 0 2,000




Al SEMX=AIH A SEXRI
M SENRA Jlgtas
el SEXX MRS (SH9 H2)
A= 2N - BB S9(S) - HISAY - BES 0l st A HlDE2
01 =LHoi 2,000 0 2,000
O ME LSS bl
20,0002 x2&+503] 2,000
301 LEIEEZ 2,000 2,000
14 JIEt2 4= 2,000 2,000
OAIl THaH RHIHE S2A Al4
2,000,000 14! 2,000
303 Zat=2 3,000 5,000 22,000
01 Z&=2 3,000 5,000 £2,000
OTNEd 224 & S22 L&
3,000,000 *14! 3,000
DSAEDIRH 29 94,500 122,544 128,044
DA ISR 94,500 122,544 128,044
DEAEIIRH st 94,500 122,544 128,044
202 Ot 2,000 0 2,000
01 =LH0i 2,000 0 2,000
OLSAIEE S 0fH|
20,0002 *2&+503] 2,000
301 LEEESZ 77,000 77,000
14 JIE2 43 77,000 77,000
OLNEMEI RS s 7
77,000,000 %14 77,000
308 RIXIEME0IH 15,500 8,344 7,156
13 SI[2SOHe & EAS A 15,500 8,344 7,156
OZSHEAAH 28 L RX2el
15,500,000 * 14 15,500
HH2IJHI(SEXXIL) 30,584 30,670 86
Jl=2dsl 30,584 30,670 N8B
JI=23Hl 30,584 30,670 N8B
201 fet= 3| 15,984 15,720 264
01 AtR2t2l] 15,984 16,720 264
Oget=ZH] 10,224
oHIARESH 300,000+ 122 3,600
SMNRIDILEE 300,000 * 122 3,600
SHETSE 20,0002 +5&+ 122 1,200
=J|Et=2H| 1,824,000 %14 1,824
O=gH| 5,760
o)|=gdRed SAl
8,000 x 106~ 122 5,760
202 Ot 6,000 4,950 1,050
01 =LioiL 6,000 4,950 1,050
OJ|2g =8 otl
10,0002« 10262 x 12 6,000
203 HR=&H] 8,600 10,000 1,400




2. R(3IH) - MIRAY - BdS

HE
0l &y

I
e
=

[l

5,600,000 14!

0 0 4o 0
2
=

[l

250,000& * 128

i

7,000

3,000




Al A

=H o
A= SEXUXIFAE A gEEF
M NHe mged dEdst
Rl NS 28 A (SH9 H2)
A= 2N - BB S9(S) - HISAY - BES il v A CImE==
SotE =1t 16,019,392 10,527,276 5,492,116
< 399,000
Al 15,620,392
ANEo mEHYUd Agtdst 15,982,400 10,489,200 5,493,200
& 399,000
Al 15,583,400
NS ad LA 15,982,400 10,489,200 5,493,200
[ 399,000
Al 15,583,400
SPEF =AY 23| 33,600 63,000 129,400
201 er23 | 15,000 50,000 235,000
01 At2teltl 12,000 50,000 138,000
Oxtegr extz 1,000,000& * 122 12,000
02 S3=gHl 3,000 0 3,000
Ogxxtg FFHl 250,000+ 122 3,000
202 04l 17,000 11,000 6,000
01 =LH0i 17,000 11,000 6,000
Ogt==dd 2= 0|
20,0008 x4 +503] 4,000
OHETINY PRFN O
20,0002 *32 %1502 9,000
OSEAY =8 Ot
20,0003 2 *1008] 4,000
203 HR=&H] 1,600 2,000 2400
03 A=A =] 1,600 2,000 2400
Oggt=] AIM=a 1,600,000 14! 1,600
&gk Jis2st & A (AA) 879,000 0 879,000
201 er23 | 24,000 24,000
01 At2teltl 4,000 4,000
O=22g 243t AN dofds 29
2,000, 0002 23] 4,000
03 A2 HHI 20,000 0 20,000
O=2g 22 AE 20,000,000& 18] 20,000
301 LEIEE S 855,000 855,000
4 JIE2 8= 855,000 855,000
OE=PIFSE=y=) 4,000, 0002 *1403] 560,000
O&ototEete Zelzg
7,5002 30, 000TEU 225,000
O=2HE SRIAME ZAEH(HEZ)
3,500, 000& *208] 70,000
25 SIENHEHX =4 10,415,000 10,016,000 399,000
201 LEeH2 | 3,000 10,000 27,000
01 At22t2lt] 3,000 10,000 27,000




A= SYEXXIEIH A 230t
M. RO DEHYUM A2}
@2l XY 28 LA (Cre|: ®M2)
Al = % o|(5 = dMEE =
A 2A - B . H2A(FH) - HIRAY - BES (1;| Palgely Ol AtoH Hlwsz
OBIBHE X RFX(CIMEl S)
3,000,000 *14] 3,000
202 04dl 12,000 6,000 6,000
01 =LHOdH] 12,000 6,000 6,000
OBIBHECK HR2FA oyl
20,0008 421503 2,000
207 AN L] 400,000 400,000
CEEET] 400,000 400,000
OJIgYdET S M+ 89
400,000,000 =14 400,000
401 AIZHIZL 20| 10,000,000 10,000,000
01 Al&HI 10,000,000 10,000,000
OBIEANHES =4
10,000,000, 000& » 14! 10,000,000
MESRFX FE 67,800 0 67,800
201 B2 AY| 57,000 57,000
01 At 2elt] 57,000 57,000
O=2 M+ M 10,000,000 * 14! 10,000
OEEEE, JI¥E &
10,000,000 & 14 10,000
Ostas| &I & 2ARY
22,000,000 14| 22,000
O=sE2ZaH& 15,000,000 * 14! 15,000
202 (44| 10,800 10,800
01 =Uort| 10,800 10,800
ONHERRIX P2 =& 0
20,0002 *3H *1803] 10,800
B4 F& X2 73,000 105,200 A32,200
202 04dl 2,000 3,000 A1,000
ETR 2,000 3,000 A1,000
OETOIA oflZ AIY =& o4l
20,0003 x2H *503] 2,000
401 AIEHIL 20| 60,000 90,000 A30,000
01 AlEHI 60,000 90,000 230,000
OETSAF HAXS 2I2ddlA AlY =&
30,000,000 14! 30,000
O&zHEs 2% & sX2e
30,000,000 14| 30,000
403 RtXIHASA=0|H 11,000 11,000
02 SIS CHStAHE2 S 2 EAF I 11,000 11,000
OSAHES SEAIGH(BEZHI)
11,000,000 *14! 11,000
ot J|s2s L 2#43H(EX) 4,514,000 0 4,514,000
T 399,000
Al 4,115,000




NEe Aged Agt2st
A ZE HEAY (SH9 H2)
S BB B(H) - MSAY - BAS 0l &y G o HIRS2
301 YEtE N2 4,514,000 0 4,514,000
& 399,000
Al 4,115,000
14 JIEtE A3 4,514,000 0 4,514,000
O=HM&=z 28 &M=
416,000,000 14 416,000
T 208,000
Al 208,000
O=H&z 28 &2 (Al8IFIh)
1,584,000,000& * 14 1,584,000
O3ERX Hei=2 382,000,000 * 14 382,000
& 191,000
Al 191,000
Q2L HAZ(AIHIZEIH
2,132,000,000& * 1A 2,132,000
L HAEG(E0r23 1) 36,992 38,076 A1,084
Al 36,992 38,076 N1,084
=3h| 36,992 38,076 N1,084
201 Let2AH| 23,192 23,076 116
01 AtR2teld| 23,192 23,076 116
Ogdet=ZH| 13,400
oHIANREE |
300,000 = 12& 3,600
o AIRID| A2E 2|
400,000& 12 4,800
chl2R=ER 20,0009 45122 960
oldI| A2 =2 70,0002 12& 840
oARE AT 100,000& * 12& 1,200
oJ|El=EH| 2,000,000 14 2,000
OZ &l 9,792
oJ|2gR =3 =4l
8,000 176« 123 9,792
202 04t 10,200 12,000 A 1,800
01 ZLHOHI 10,200 12,000 1,800
O=LH0AY| 10,200
oJ|=2dR 8 oyl
100,000 *17 5 *63| 10,200
203 R =&IH| 3,600 3,000 600
M EA2IHRF=EH| 3,600 3,000 600
ORANSIHE R 300,000& *12& 3,600




. =
a=: s

H & 0l & AHS B Ml A

EPNONESFSIS, A 1TSS

M MO nESXHAH =
R ITS MIAIS 2! JH =

AZ 2N - FB - OI(SH) - NRAY - BIES 0 &t A HIRE2
ITSZA1D 14,843,439 9,231,450 5,611,989
2 800,000
= 400,000
Al 13,643,439
ZHC DEHH 2= 14,763,663 9,190,800 5,572,863
2 800,000
= 400,000
Al 13,563,663
ITS MHZ3l M= 299,290 393,300 A%4,010
ITS MIHZ3| Wz =t 299,290 393,300 A%4,010
201 LBt Y| 218,940 315,100 A9, 160
01 AlR22lH| 38,940 65,100 126,160
OITS MIHEs B2 A4 L 208 JI=
10,000,000 *1A! 10,000
OITS MIHE3 2% 2123 HX
10,000, 00024 *1A! 10,000
OITS MHEs 2222 M=
8,000,000 *14! 8,000
OITS MHZE3 ¢ 2HUE S=H|
8,840,0002x 14! 8,840
OSI2E U X2 EHA(AAL) &
70,0002 *1024*35] 2,100
08 SAF2H| 180,000 250,000 A70,000
OITS MHES 22 A2 2%
120,000, 0002 % 14! 120,000
OITS HEZ3 22 A2 29
30,000,000 *1A! 30,000
OITS MHE3 B& A
30,000,000 *1 4! 30,000
202 04| 78,750 76,200 2,550
01 2UHoH| 6,750 4,200 2,550
OITS MHZE3 ¢S ot
90,0002 *3 %253 6,750
03 22/ 204H| 72,000 72,000 0
OITS MIHZE3 Ml =& 72,000
SITS HHZE3 &4
3,200,00021 10 *13| 32,000
oITS IEE3 &A
4,000,000 *5%*235] 40,000
203 2= | 1,600 2,000 A400
08 Al =R 2=AIY| 1,600 2,000 A400
OAAD =T 1,600,0002 % 14! 1,600
ITS MIHZS BHAR Al =5 10,008,000 10,008,000
ITS MIHZ3| th3lolm A 10,000,000 10,000,000
401 AI2HIZ 20HH 10,000,000 10,000,000




(aiywi)

A= SERFA
2 XA REHAH 7=
t

SN ¢ ITSEED

Rl TS MIAHISE EAIE AlE &5 (Gt H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e

01 Al&Hl 7,000,000 0 7,000,000
OITS MAIB3l th3l2lE A-AIS
7,000,000,000& * 14! 7,000,000
02 Zeldl 2,800,000 0 2,800,000
OITS MIAHIZ2 HaloE HEAIS
2,800,000,000& 14 2,800,000
03 AIE 2 CHHI 200,000 0 200,000
OITS MAHIZBSl tHal & HSALS
200,000,000 » 14! 200,000
ITS Al 2Z &l 6,000 6,000
202 o4t 6,000 6,000
01 =Ll 6,000 6,000
OITS Al &S (|
100,000 3% *203] 6,000
Nss WsSHAH = 1,586,197 6,704,000 A~5,117,803
OlcfusS=gdy HE 1,586,197 6,704,000 5,117,803
401 AlEHIZ 20 1,586,197 6,704,000 5,117,803
01 Al&HI 1,486,197 6,594,000 A5,107,803
OllinS=HEH HE A
1,486, 197,000 & 14! 1,486,197
02 Zeldl 100,000 90,000 10,000
ODlinS=2EHEH HE A
100,000,000 * 14! 100,000
2FE A= g 2™ 1,600,000 1,000,000 600,000
s 800,000
& 400,000
Al 400,000
2ZE ST 1 S (ZFHEZA) 1,600,000 1,000,000 600,000
s 800,000
& 400,000
Al 400,000
201 2Et2 & 1,600,000 1,000,000 600,000
= 800,000
& 400,000
Al 400,000
01 ArR222ltl 1,600,000 1,000,000 600,000
OXrE8F=dxte AXt
1,600,000,000 & * 14! 1,600,000
= 800,000
= 400,000
Al 400,000
As8 WsSHA 2¢ 1,272,176 1,093,500 178,676
ANsd WsHH 29 2 1,272,176 1,093,500 178,676
201 22 1,236,176 987,500 248,676




D SEXRIFAH
DXNC BEXMAH RS

SN ¢ ITSEED

L
=t Nsd UsSHH 22 (SH9 H2)
AR RA - F - O(BIH) - NRAY - BES 0l Aro A timE=FT
01 AtR2telbl 2,800 2,800 0
OJl=gi2d A =¥
70,0003 *10Z *42] 2,800
02 2324l 1,233,376 984,700 248,676
03323 333,376
oIPISAY HMFAEZR
650,000 x 122 7,800
oZigite fEAS dg
830,000+ 122 10,560
cHEHEHEH ZEAOIE 3ldE
3,300,000 x 12 39,600
o|TSAIEE &JIZ
52,0002 #3130 A+ 122 195,312
o|TSAIEE Stz
82,5002 150 A 123 14,850
cHSANSHN Y SAZ
9,800 %3360 A 128 39,514
oUSUSAAY FHZ
82,5009 x2601 A+ 123 25,740
OXlsg usHA 22 & |Al2el
900,000,000 *14] 900,000
202 04l 6,000 6,000
01 2ol 6,000 6,000
OXsg usHA 23 2 0
20,0002 *3Z *1002] 6,000
401 AIEHIZL20HY 30,000 100,000 270,000
01 Al&HI 30,000 100,000 70,000
OARE ITS AEAML 30,000,000 *14] 30,000
M 2AZHI(ITSFA 1) 79,776 40,650 39,126
el 2] 42,726 0 42,726
TSV 2 2el 42,726 0 42,726
101 @12A4H| 42,726 0 42,726
02 JIet& =24 42,726 0 42,726
OITS BIHE 20t B
3,179,000 «1H+ 122 38,148
o4l 282 38, 148,000 *12% 4,578
Jl=&d| 37,050 40,650 23,600
Jl=&H| 37,050 40,650 23,600
201 L= 22,800 26,400 23,600
01 At2telt] 22,800 26,400 23,600
Oget=ZH] 14,160
cHIMEES 7 200,000 *12& 2,400
SMNRII| ARE 7Y
700,000+ 122 8,400
opER=ER 18,000& %108+ 12& 2,160




= SEXIFAH A ITSFEED
M AHAH2HAHI(ITSFE L)
&t JI=Z (CH9): &S
4324 - HY - O9I(S) - AISAY - BES o vy CiE HImS2
oAl =4t 100,000 * 122 1,200
O=gH| 8,640
o)|ZRaY SAHI
8,000 «9H «12& 103 8,640
202 04l 11,250 11,250
01 204l 11,250 11,250
OJ|2g =& bl
50,0002 x9 #2535 11,250
203 gR=4| 3,000 3,000
04 REXNSLYRFAH 3,000 3,000
ORN2EYRFLH 250,000+ 122 3,000




